gk O OO

0000 k0 ODODOO0

0000 0000000000000
00 00/0

0000

0000 00000

0000 15222177508

ot

kDO D000 0O0000obDgk D00 b—0O00dbgkoooooboooooobon
ooodbooboooboobobo—>hioooboobbodgkb obbooboobboobooob
guooooon

gobbobbbodoooobbobbboddogooboobbooooooboboobbouoooad
goobobobooooooobon

=== 0000000 ====

kDO DOO0Ooooboobouooobooboobbooboooobooboooboooboooboo
gobbobobooceobuuogooon

Oogesod /0200000080 O5440/00

goooo

00O 0O 0 20000

0 0O 0O 0 50000

gooil



gooboba2n

Udo4n

gopbooseudodoooosbon

00D05%0%-30%000005% 020 0000000030%+0000

000000 12%-4%(0

O000D040 0 12%=81.6/0 O

O0000D40 0 12%=81.6/00 U

0000020 08%=54.4/0 0

O0000OD01006%=40.8/00 O

00 00O O40000 4%=27.2/00 O

gobbz20bbooddoooobooobbbooood

00O O 30%0 12%-4%[

000080 0 30%0 U =204+L1 340*30%[] =102

O0000000D0 OO0 340*30%=1020 /0

oboooboodddds3nwe+12%0 OO

OO0D0D0O0ODOO10000 00000010 40.8=4.080 *3

goboobboooogdnnhskw



gooosoooro

gooob4000ed

goobo200050

gooobi1ioodsg

00O 00O 040000 O10

goceou

gooboobooloodooglsnudd

goboboobooseotbdddilz2enldd

goobooboogoz2ibddudi»wbon

gobobooboooseoot b dduuoswldd

Joob0bo001iooooobooDoos%t oo

50%0 0+500 00 0000dgonoooooogg

Jobobobobboo2000ggobobob4bceobogogo3nbod

gobobobobbtod4dooaogoboosbceobbboggoo2nbod

gobobobooosgoooobobobboooooooooobooiwo oo

gobpoceobbbonbboodogolzbon

gooon



cCeobbonbooooooon

70%0 0 +30%0 00 00

gooo*==goood

00000 5%0

guoduobbbuogoodoooobbygoooobobbbuoooooobbbbouooo


http://www.tcpdf.org

